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Chapter 1 Test Review
       Advanced Algebra


1.  To which sets of numbers does the number 
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121










121

 belong?
1.  ___________________________
2.  Find the opposite AND the reciprocal of the number -7.

2.  ___________________________

3.  Name the property of real numbers illustrated by


3.  ___________________________

     the equation 
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3(2x − 4) = 6x −12










3(2x

-

4)

=

6x

-

12

.
4.  Simplify 
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-
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+

3

. 






4.  ___________________________

5.  Evaluate the following expression when x = -5:


5.  ___________________________
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−x2 − 2x + 7
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7

.
6.  Simplify 
[image: image5.emf]


−(3a− 2b)−3(−a− b)
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6.  ___________________________

7.  Solve the following equation for r:



7.  ___________________________
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8.  Solve the following equation for y:



8.  ___________________________
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10(1− 2y) = −5(2y−1)










10(1

-

2y)

=-

5(2y

-

1)


9.  Solve the following equation for g:



9.  ___________________________
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2
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1

2
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10. Solve the following equation for x and



10.  __________________________
      state any restrictions on the variables.
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cx − b = ax + d
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-

b

=

ax

+

d


11. A rectangle is 3 times as long as it is wide. 


11.  __________________________

      The perimeter is 120 centimeters.

       Find the dimensions of the rectangle.

       Round to the nearest tenth if necessary.
For Questions 12 – 17, solve the inequality and graph the solution set.
12.  
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3x +17 ≥ 5










3x
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17

³

5








12.  __________________________


13.  
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7x > 4x +3(1− x)
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4x
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-
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13.  __________________________

14.  
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3x −1> −28 and 2x+7 ≤19
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14.  __________________________

15.
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6x +3<15 or 4x-2>18
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+

3

<

15 or 4x-2>18







15.  __________________________

16.
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5−x ≤ 2
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16.  __________________________

17.
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x−9 > 9
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17.  __________________________


18.
A club decides to sell T-shirts for $15 as a fundraiser.

18.  __________________________

        The costs to the club include a $50 service fee plus $10   

        per T-shirt made.  Write and solve an equation to find  
        how many T-shirts the club needs to make and sell in 
        order to profit at least $200.
19.
If the perimeter of a rectangular picture frame must

19.  __________________________


        be less than 400 inches.  The width is 84 inches.

        What must the height h of the frame be?

For Questions 20 – 21, solve the equation.  Check for extraneous solutions.
20.
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6 2x + 5 = 6x + 24










62

x

+
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6

x

+
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20.  __________________________
21.
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3x−5 = 4+ 2x
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21.  __________________________

22.
Lynn and Dawn tossed a coin 60 times and got heads

22.  __________________________

        27 times.  What is the experimental probability of

        tossing heads using Lynn and Dawn’s results?
23.  A spinner is numbered from 1 through 20 with each

23.  __________________________

       number equally likely to occur.  What is the probability

       of obtaining a number less than 2 or greater than 16
       is a single spin?
24.
A bag contains 6 red marbles, 6 white marbles, and 

24.  __________________________

        4 blue marbles.  Find P(red or white).
25.  Suppose 12 out of 30 students in your class have dogs for pets.

       a.  What is the theoretical probability that a student

25a.  _________________________


             selected at random from your class has a dog?




       b.  Using your result from part (a), predict how many

25b.  _________________________

            dog-owning students you can expect among the 
            200 students in your grade.  Show your work.
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